Chapter 3

Exercise Set 3.1

Simplify the expression, writing it without any negative exponents. 
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Find the value of the algebraic expression at the specified values of its variable or variables without using a calculator. Simplify the expression before evaluating. Check your answer using a calculator.  
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Exercise Set 3.2

Simplify the expression. Assume that all variables represent positive numbers.  
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Find the value of the algebraic expression at the specified values of its variable or variables in simplified form without a calculator. Simplify the expression before evaluating. Check your answer using a calculator. 
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Exercise Set 3.3

Simplify the expression. Assume that all variables represent positive numbers.
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Write each radical expression as an exponential expression and each exponential expression as a radical expression.
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Evaluate each expression without a calculator. Check your answer using a calculator.
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Find the value of the algebraic expression at the specified values of its variable or variables without using a calculator. Check your answer using a calculator.
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